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Question Number : 1 Question Id : 70819113107 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
4

The value of the integral _”9 J-"|dJL' is :
—4

Options :

o
L3 | b
-

70819143221.

70819143222, 2

70819143223.

70819143224, °

Question Number : 1 Question Id : 70819113107 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



4

“9 x?

dx aAIRee el 26T :

-4
Options :
1=
70819143221, °
122

70819143222, 3

70819143223, 3

70819143224, -

Question Number : 2 Question Id : 70819113108 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The sum of infinite number of terms of a Geometric Progression is 3 and the sum of the

squares of its terms is 7. The sum of the cubes of its terms is :

Options :
el
13
70819143225.
108

70819143226, 12

M| 3

70819143227.

E
70819143228. 7



Question Number : 2 Question Id : 70819113108 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

6EIG gedlaa 696k 2N J9 TR A8 3 990 J9Iewa QeAIeEa A8 ded

(CYRC-2

JIeEe JeUeRIeEa A8 266 :

Options :
31
70819143225, 13
108

70819143226. 19

M| E:}

70819143227.

5
70819143228. 7

Question Number : 3 Question Id : 70819113109 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following Boolean expression is a tautology ?
Options :

70819143229, F =P V4

70819143230, P~ 9 =P

70819143231, P~ PV @) v (~g)



20819143232, (P ¥ "P)~ (@ Vv (~q))

Question Number : 3 Question Id : 70819113109 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Ge6a SN 699 AR ABE Y@ 9@ (ceTIeaIR) 2se ?
Options :

70819143229, F =P V4

70819143230, (P~ 9 =P

70819143231, P~ PV @) v (~9)

70819143232, PV "P)~(q v (~9)

Question Number : 4 Question Id : 70819113110 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
o '1

1
Y

ta | =

Let [a| <1, b|<1, [c|<1and x=} a",y=) b",z=) " [ are in Arithmetic

n=() n=() n={

Progression, then :
Options :

70819143233, & b and c are in Arithmelic ngression

70819143234, & b and c are in Geometric Progression

70819143235, & 2b and c are in Arithmetic Progression

i i iefvr 2=
70819143236, & P and c satisfy Zb"=ac



Question Number : 4 Question Id : 70819113110 Question Type

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o m o ]_
dQIRIR |a|<1, [b|<1, |c|<1 98" x= Y a", y=) b",z=) " @@
n=l n=() n=(

po

70819143233, & b 997 ¢ @AIRQ OGIea 288

70819143234, & b 9%° ¢ gEdlaa Yeviea 2128

70819143235, & 2b 99° ¢ AAIaQ JAGIER UaT

20819143236, & P 99° ¢ @8 2b?=ac @ I @A6Q

Question Number : 5 Question Id : 70819113111 Question Type

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ih‘nzl?nIS

is equal to :
n=1

n!
Options:

70819143237, 19e+5

70819143238, 19e¢—5

70819143239, 16e—3

: MCQ Option Shuffling : Yes Is

3 | =
]
|
(=5
=3
LCE)
=B
&3]

: MCQ Option Shuffling : Yes Is



70819143240, 16e—7

Question Number : 5 Question Id : 70819113111 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

- 2
—~ N“+7n+5 i
Y Qe 6208
= n!

n=1

Options :

70819143237, 19e+5

70819143238, 19¢—5

70819143239, 16e—2

! |

70819143240, 16€-

Question Number : 6 Question Id : 70819113112 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The least positive integral value of A such that 10°0+ (3% (4)°2)+ A is divisible by 9 is :
Options :

70819143241, 2

(o5

70819143242.

|

70819143243.

(=1

70819143244,



Question Number : 6 Question Id : 70819113112 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A 9 QIRE 600 Z9INe gda e gay aiR 100+ (3 x(4)2) +), 9 QIR U 266 :
Options :

70819143241, 2

[F5]

70819143242.

|

70819143243.

70819143244, 1

Question Number : 7 Question Id : 70819113113 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

There are 4, 5 and 6 points on the three parallel and co-planar lines. If no set of four or more
points is cyclic and no set of three points lying on distinct lines is collinear, then the number
of circles passing through exactly three points is :

Options :

70819143245, 455

70819143246, 421

70819143247, 435

70819143248, 41

Question Number : 7 Question Id : 70819113113 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
@ 971099 Q6RIE QAR 6a% QdeR 4,5 99° 60 QQ 22 | 99 4§ QI 6l 0l AR QIS

!
6aled 626 0@a q98 8 9% G 6Ad den el 6@ad 3§ §Q Y@ CARRY RUR 26F6
QaE (99 60H1A G64), 666@ 0R 3§ @0 A 620 68 QAR YRAIRER QI 26C :

Options:

70819143245, 455
70819143246, 421

70819143247, 435

70819143248, 41

Question Number : 8 Question Id : 70819113114 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ax - b )
Ify= —4] has an extremum at the point (2, —1), then the values of a and b are :

(x—1)(x
Options:

70819143249, a=1, b=0

70819143250, 2= b=1

70819143251.

70819143252, 2= L b=1

Question Number : 8 Question Id : 70819113114 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

) i ) ) i
ﬂ@]f=?—%%Flz§a,@Q{l~ﬂjOG&&@Q?&NEE,@MQa{@”baﬁywaﬁg:
X X :
Options :
70819143249, @=1, b=0
70819143250, 2= b=1
70819143251, a=0, b=-1
70819143252, 2= ~ 1. b=1

Question Number : 9 Question Id : 70819113115 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Thedﬁﬁnaﬂxﬂ#&mthephnm;?-{2}Ij 2}’|5=0 mul?-lﬁlej 6}.I2=Dis:

Options :
5
70819143253, 19
15

70819143254, 4

70819143255, Y

70819143256.



Question Number : 9 Question Id : 70819113115 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Q69 90 T- (27 +7-2k]+5=0 < T- |67 +37-6k)+2=0 9260 96Q 268 -
j j

Options :
2
70819143253, 19
15

70819143254, 4

70819143255, ¢

70819143256.

Question Number : 10 Question Id : 70819113116 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
5

The probability of solving a problem in Mathematics by two students X and Y are 1 and 5

respectively. If both of them try to solve the problem independently, then the probability
that the problem will be solved by exactly one of them is equal to :

Options :

70819143257, 20

70819143258.

70819143259, 20



b

70819143260. 2V

Question Number : 10 Question Id : 70819113116 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

" 5 " S .
9866 @ 999 966 219 X <" Y QI8 QAP A6RIR AANG! GAF6EA 7 6 = 265 | 48

9459 aAIe QA6 Il 9RG JRIIP QISR 698 Qa3 6066 0Q Ade Il g4 aaIe
CRIREQIR ARSI ZEE

Options :
7

70819143257, 20

70819143258.

70819143259, 2U

12

70819143260, 20

Question Number : 11 Question Id : 70819113117 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

R is c-qual Lo :

The polar form of the complex number
1—i

Options :

—_— —_—

cos — +1i sin—
" "
70819143261. e e



w w

Cos ——1sin—
2 2

70819143262. = <
cns'—rr F i .'?»inE

70819143263,  * '
cos L [ .'aini

70819143264. ' '

Question Number : 11 Question Id : 70819113117 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A4 (@°eqe) a°a i Q1S (6AIRNIR) QT AR 62Q8 :
1—i ' .
Options :
cnsz | z'ainT—'
) )
70819143261. = =
cos ; i sin%
70819143262. 5 -
COSE [ isini
70819143263. :
cos L { .'?»inE
70819143264. '

Question Number : 12 Question Id : 70819113118 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



If the equation of a line which divides the line segment joining the points (I, 0) and (3, 0) in
the ratio 2: 1 and is also perpendicular to it, is ax=7, then the value of a is equal to :

Options :

]

70819143265.

70819143266. -

e

70819143267.

==

70819143268.

Question Number : 12 Question Id : 70819113118 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

QAAMRRET ax=7 89, 6669 a & QA1 AR 6067 :

Options :

2
70819143265. ~

70819143266. -

70819143267, *

70819143268, |

Question Number : 13 Question Id : 70819113119 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Equation of the circle, which is the mirror image of the circle o yz— 2v =0 with respect to
the line x+y=2, is :



Options :

2 2-— i . 4 e
70819143269, ¥ TY ~2xtdy+3=0

-
i

x -+-l.r2—--1x—2y+-1=[]

70819143270.

Va2 b gy 2} — - s
70819143271, 2@~ +y) —x+y+1=0

o 2 ST, T al
70819143272, ¥ tY¥ x4y +3=0

Question Number : 13 Question Id : 70819113119 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

x+y=2 608 @A, X+ —2xr=0 90 goaa QATa A8 6T :

Options :

-2 2-— e . - —_
70819143269, X Ty —2x+4dy+3=0

-

2+ P —4x—2y+4=0

70819143270.

Wil ad o ggd e -
70819143271, 2 +y) —x+y+1=0

L UL S Y
70819143272, ¥ T¥ —2x—4y+3=0

Question Number : 14 Question Id : 70819113120 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(x+1)% 2

22

I U ,,) =1 and the circle

Equations of the common tangent of the ellipse =

(x+1)2+(y—1)>=4 are :



Options :
70819143273, ¥+3=0 and x-1=0

20819143274, ¥ ~3=0 and y+1=0

70819143275, X¥*+3=0 and x—1=0

y-+-3=[] and Y- 1=0
70819143276.

Question Number : 14 Question Id : 70819113120 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

(x+1)°  (y-1)°
3 | 3?

2

=4 Q QRIRE WA

Q1998 (aFoq) =1 499" 99 (x+1%+(y-1)
AMNQREE @ 26E
Options :

1: I"-'|::' " — ==z
70819143273, Y 13=0 W& x—1=0

r—3= q4o° y+4+1 =
70819143274, ¥ 2=0 X9 y+1=0

70819143275, ¥ +3=0 9&° x—1=0

70819143276, Y F3=0 9" y—1=0

Question Number : 15 Question Id : 70819113121 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

l a
If A= {” J , then Ak (keN) is :



Options :

70819143277.

70819143278.

Tk ka
0 k

70819143279.

1 ka
0 0
70819143280.

Question Number : 15 Question Id : 70819113121 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

= 1 a ,
dw A =[” 1}, co6e Ak (ke N) 26g :

Options :

70819143277.

70819143278.

k ka
0 k

70819143279.

1 ka
0 0
70819143280.



Question Number : 16 Question Id : 70819113122 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The values of s and t, for which the system of equations
.1'1 + .1'2 + _1'3 =-5
Xy +2x,+3x,=9
xy+3x, +sx3=t

has no solution, are :

Options :

70819143281, S=2 t=13

70819143282, S5

70819143283, 5=t =13

70819143284, L# 13

Question Number : 16 Question Id : 70819113122 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

‘s’ 9° ‘Y Q 6R% FRY IRl
xy+2x,+3x,=9
xy+3x,+sxy=t

4@ Q2MARE 9FRa ARG QT ?
Options :

70819143281, =2 t=13

70819143282, S*5



70819143283, S=> t# 13

70819143284, L= 13

Question Number : 17 Question Id : 70819113123 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

af( \ - [ 2%
Derivative of tan ‘ 5 | with respect to sin : 3 ‘ in (1, =), is:
L 1-x" } \1+x7 )
Options :
70819143285. 1

70819143286, ~ !

70819143287.

-2

70819143288.

Question Number : 17 Question Id : 70819113123 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

. -1 f 2_1' A . =] / 2_1' A e
(9 2R (1, =) FER tan l | @ sin l 5 | S8 ASRRE 26T :
e 1Ex
Options :
1
70819143285.

70819143286. ~ !



70819143287. 0

2
70819143288. ~

Question Number : 18 Question Id : 70819113124 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

— .
— — — — —

=1.If axlaxc/+b=0, then

—_ -3 —

Let a, b and ¢ be three vectors such that ‘a‘z

h

b

!\-J'|

—

—%
the acute anglo between a and ¢ is:

Options :

>

70819143289.

NE

70819143290.

o
q

70819143291.

5w

12
70819143292.

Question Number : 18 Question Id : 70819113124 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

—3 51

=1, 98 ax{axc_ +b=0,

—  —

— —
feaee a, b 19° ¢ OX6lE 49 Qld YRR ‘a‘:

‘q‘

r“.u

b

)

I\-J'|

- —

6069 a B ¢ F1U6Q g9 YERNEQ dQieliél 2leg :

Options :



NP

70819143289.

NE

70819143290.

m
3

70819143291.

s
12
70819143292.

Question Number : 19 Question Id : 70819113125 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Solution of the differential equation (1 +y*)dx = (tan~ly—x)dy is :
(where c is an arbitrary constant)
Options :

) -1 tan 'y
70819143293, Y~ 1 tan ‘ytce

1

y=tan "y—1+ ce tan x

70819143294.

- -1 —tan '13.;
70819143295, X~ tan y-ltce

70819143296.

Question Number : 19 Question Id : 70819113125 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



(1+y?)dx=(tan" ly—x)dy, 29ea ANQEa QRIS 26E :
(c 99 FaIF)
Options:

: -1 —tan"lg.l.r
70819143293, Y~ 1 tan ytce

1 tan 'x

70819143294, V=0 'y 1tce

o -1 —tan_lj_;
70819143295, Y~ tan y-ltce

70819143296, *~ At Y

Question Number : 20 Question Id : 70819113126 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

o . % .
The values of x, for which the vectors a = (xz 16)i+4] {xz 25)k make acute angles with
the (positive directions of) coordinate axes lie in :
Options :

70819143297, |2 —4l w4 3]

70819143298, =2 4) W (=4 5]

70819143299, (72 ~4) v (&, 5)

70819143300, > ¥ (=49

Question Number : 20 Question Id : 70819113126 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

10 606 ORI Qe A8 a=(x*-16)i+4j- (x**~25)k, QIEFNG W QAR YBIAR ¢ Q2
QY6RIE AYR PR :
Options :

70819143297, 172 —4l <[4, 5]

70819143298, 2. 4) v (=4, 5]

70819143299, (75 ~4) Y (4 9)

70819143300, ("> 4 W (—49)

Mathematics Section B

Section Id : 708191454
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 708191734
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 70819113127 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



dx 1s
¥

Tj T+ coszx
0 1.|||| =

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 21 Question Id : 70819113127 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

™ 1+ cos2x
Ifﬂdx 216G -
U‘\I

2

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 22 Question Id : 70819113128 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The minimum value of 9tan20 +4cot20 is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText



Possible Answers :

5 to 5.001

Question Number : 22 Question Id : 70819113128 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
9tanZf +4cot?f & QIEE @Y 2EE
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 23 Question Id : 70819113129 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

X 7
The length of the perpendicular from the point (1, 2, 3) to the line = = is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 23 Question Id : 70819113129 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



at® w-7 =% o i
89 (1,2, 3) 019 6ad = =— 96 266 oQ i e

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 24 Question Id : 70819113130 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A
If 1033 2 Iog]( -5) and Iog;[ iy %J are in Arithmetic Progression, then the value of x is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 24 Question Id : 70819113130 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

!
| acIee (Q661) 656160 993, 6069 x @ Al 2ed
P

Fa | =1

i
@@ log;2, logs (25~ 5) 4" logs| 2*

Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count: Yes



Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 25 Question Id : 70819113131 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

. 2y

If x2+x+1=0, then Jffx i|2 | | 2
X7

|\

Response Type : Numeric

1
P B O™ 1
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText
Possible Answers :

5to 5.001

Question Number : 25 Question Id : 70819113131 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

o 7 \ e a
4@ ¥ +x+1=0, 6069 J|1 = |'x2 iz L 26g

w

| 'x"’ —

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 26 Question Id : 70819113132 Question Type : SA



Correct Marks : 4 Wrong Marks : 0

22 +y?—4x—2y—-11=0 is a circle to which tangents are drawn from the point (4, 5) which
form a quadrilateral with a pair of radii. The area of this quadrilateral in square units is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 26 Question Id : 70819113132 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

200@ C4ICIoR, cU0RG 1@

2 +12—-4x-2y-11=0 4R 98 U6E, ARIGS 89 (4,5) 0K ¥4Q
3 1@ 00990 cH0U0 9d YRARER

A9Q9NER Qe Il 61 QY 99 49 R}@m? QUG A9 @
aee

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 27 Question Id : 70819113133 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

If the sum of mean and variance of a binomial distribution is 15 and the sum of their squares
is 117, then the number of independent trials is equal to

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 27 Question Id : 70819113133 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
A8 ¥R G091 2IRgR6a FuAIR 8 9204 (NIGRIRY) 6 AR 15 29 ¥6° 6AAIGEE QFq Ard 117
@4, 6069 Qlae Al QeI 9AR ____ 2ef

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 28 Question Id : 70819113134 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
Let the equation of the plane passing through the points (1, 2, 6), (2, 5, 7) and perpendicular

to the plane 4x—y+z=15be ax+by+cz+d=0. Ifa, b, ¢, d= Z with ged (|a|, |b, |c)=1,
then |atb+c+d|isequal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 28 Question Id : 70819113134 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A6eae @9 (1,2,6),(2,5,7) f1d 620 66 @949l 6 adeq -y +2=15 96 A7 491 AAGHER

el (eIt a;i-hl,- tcz+d=0 269 | 93 a, b, ¢, d GLQ°6 225, UOAR 6271670 GAT ARG
wiwe (a), |b|, [c)=1, 6069 [a+b+c+d Q@ eoQE
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 29 Question Id : 70819113135 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

e |

—_
1]

-‘ of the equation 4sin®y —8sinx +3=0

3
The number of real solutions in the interval { e

15

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 29 Question Id : 70819113135 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 30 Question Id : 70819113136 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
1

] 10
Let Al, Az, A3, ....... be an increasing geometric progression. If T4 \_b

E and

AA,=44], then 3(A,+A,) is equal to
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 30 Question Id : 70819113136 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

) ohe g
AGERA Ay, Ay, Agy ... <@ of qeaian (go61) 6961108 3 ' A 0 9T Asp=441,

6062 3(A,+A,) QIR 266
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText



Possible Answers :

5 to 5.001

Aptitude Test
SectionId: 708191455
Section Number : 3
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 50
Section Marks : 200
Mark As Answered Required?: Yes
Sub-Section Number : 1
Sub-Section Id : 708191735
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 70819113137 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Which among the following is the full form of the “‘UNESCO" ?
Options :
70819143311, United Nations Educational, Scientific & Cultural Organization.

70819143312, United Nations Educational Sc-curit}-' Cultural Drgani_zatinn.

70819143313, United Nations Entrance Site Calling Organization.

United Nations Educational, Sustainable & Cultural Organization.
70819143314.



Question Number : 31 Question Id : 70819113137 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

FORYe g 6Rus genearn 4dqa (gaad) 2ee ?
Options :

20819143311, 2AIAEEQ 62Q7 IRERARIA, AGETR] I8 AASAIR LAGINAERAR

70819143312, 2FIBE0Q 6747 IREIARIR IGAST FRSAUR AAGFREHAR

70819143313, AFIG66Q 67A] IAGIY ARE WG, AQEINAERAR

QIREEE 6RAR IRERURIR, AEEERR I8 GRSAIR ZNGININEEAR
70819143314, TINETR 6RAR IGSNAAR, AQ @ I8 AREAIR \

Question Number : 32 Question Id : 70819113138 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List - I with List - 1L
List - 1

(I)  Hall of Nation (a)

(II) Falling Water, Pennsylvania (b)

(IIT) Petronas Tower (©)
(IV) Secretariat (d)
Options :

20819143315, D), (ID-(a), {D-(d), (IV)-(d)

20819143316, D-(9), (ID-(d), (D-(a), (IV)-(b)

20819143317, 0@, (ID-(b), (D)-(c), (IV)-(d)



20819143318, OBk (Ha), (<), EV)H{d)

Question Number : 32 Question Id : 70819113138 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

QIR - 1 § QIARI - 11 980 A2 |
QIARI - 1 QIR - 1

(I) 99 2 679K, (a)
(I) TR GIge, casdasizal (b)
(II) 696gIRIq S1BIQ (c)
(IV) QoQIea (d)

Options :



70819143315, (D-(b), (I)-(a), (ID)~(d), (IV)-(c)

20819143316, D-(©), (ID-(d), (IT)~(a), (IV)-(b)

0819143317, 0@, (I)-B), (D<), AV)-(d)

20819143318, 9P (IHa), (<), (VHd)

Question Number : 33 Question Id : 70819113139 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Match List - I with List - 1L

List - 1 List - 11
(I) Kamru (
(II) Delhi ( Badrinath Temple
(IIT) Fatehpur Sikri (c) Khirki Masjid
(IV) Kolkata (d) Buland Darwaja

a) Victoria Memorial Hall
)

Options :

20819143319, Wb}, (ID)-(c), (HD-(d), (IV)-(a)

20819143320, D-(b), (ID-(d), (I)-(c), (TV)-(a)

0819143391, 0O, (D-(@), (ID)-(b), (V)<(d)

20819143322, V(B) (I)-@), (I~(d), (IV)-(c)

Question Number : 33 Question Id : 70819113139 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



RIARI - 1 @ SIARI - II 986 fQiz |

IR - 1 eImel - I1
() @G (a) @62 eAcAIGIm 2R
(I @ (b) Q@I LA
(1) aeega daql (c) @aa1 agee
(IV) 6RIR@Io (d) QMR MR
Options :

70819143319, W(b): (I)-(c), (IID-(d), (IV)-(a)

70819143320, (D-(b), (ID)-(d), (I)-(c), (IV)-(a)

20819143321, D), ()-(a), (D)-(b), (IV)-(d)

70819143322. (D-(b), (I)-(a), (ID)-(d), (IV)-(c)

Question Number : 34 Question Id : 70819113140 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List - I with List - 1L
List - 1 List - 11

() Agra fort (a)
(II) Atala Masjid (b)
(Il Nalanda University (c)
(IV) Jagannatha Temple (@
Options :

20819143323, D-(b), (ID-(c), (ID)-(a), (IV)-(d)

20819143324, (D-(@), (ID-(b), ([D-(c), (IV)-(d)

70819143325, 1) (D-(a), (ID-(d), (IV)-(b)

70819143326, V) (ID-@), ([I)~(c), IV)-(d)



Question Number : 34 Question Id : 70819113140 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
QIRRI - 1 @ SRS - II 996 fqI2 |
elaal - 1

O g d

() 2R A9

() Qe gL

(IV) @exid a&e

Options :

QIGR! - 11

i o
N Syt
| 4 P

(a)
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70819143325, M9 ()-(@). (11D-(d), (IV)-(b)

70819143326, O(P) (1)-@), (h-(c), (TV)A(d)

Question Number : 35 Question Id : 70819113141 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - II.

List - 1 List - 11
(I) Yadvindra Garden (a) Manali
(II)  Vishnu Temple (b) Amritsar
(III) Hidimba Temple (c) Pinjore
(IV) Hari Mandir (d) Bunivyar
Options :

70819143327. {n“{‘:]r ﬂl]-{d], UIFJ-(h], {-[V]-{a]

70819143328, (D-(¢), (I)-(d), (ID)-(a), (TV)-(b)

20819143329, (D-(d), (ID)-(b), (LD)~(c), (IV)-(a)

70819143330, (D-(b), (I)-(d), ()-(a), (IV)-(c)

Question Number : 35 Question Id : 70819113141 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



RIARI - 1 § QIR - 11 996 Az |

IR - 1 eIme1 - 11
() Q99 QFEaI (a) QR
(II) Q8 aea (b) AL
(I11) @éhﬂt ol (c) CRexIq
(IV) 24 qee (d) QR
Options :

70819143327. (D-(c), (I0)-(d), (IID)-(b), (IV)-(a)

70819143328, (D-(©), (I)-(d), (ID)-(a), (TV)-(b)

20819143329, (D-(d), (ID)-(b), (II)-(c), (IV)-(a)

70819143330, (D-(b), (I)-(d), (I)-(a), (IV)-(c)

Question Number : 36 Question Id : 70819113142 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - 11.

List - 1 List - 11
(I)  Mehrangarh Fort (a) Hyderabad
(II)  Siri Fort (b) Kolkata
(IIT) Golconda Fort (c) Delhi
(IV) Fort William (d) Jodhpur

Choose the correct answer from options given below :
Options :
70819143331. (D-(a), (IT)-(d), (D-(b), (IV)-(c)

20819143332, (D-(d), (I)-(c), (I)-(a), (IV)-(b)

70819143333, (D), (ID-(c), ID)-(b), (IV)-(a)



20819143334, @) @-0), WD)-@), (V)9

Question Number : 36 Question Id : 70819113142 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

IR - I § QIR - 11 996 A2 |

QIR - 1 QIR - 11
(I) 6720769 Q6 (a) 2RQUAD
(I da ed (b) ERIANG
(II) coIRERIEl 96 € @
(IV) ep@eaqn Q6 (d) eQIuge

QORge 9ag fkg 0] 288 QT 6Re :

Options :
20819143331, (D-(@), (I)-(d), (LD)-(b), (IV)-(c)

70819143332, (DA, (I)-(c), (ID-(a), (IV)-(b)

20819143333, (DD, (1D-(c), ([D)-(b), (V)-(a)

20819143334, @) @-0), WD)-@), (V)9

Question Number : 37 Question Id : 70819113143 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Book ‘God of small things’ is written by which Indian Architect ?
Options :

70819143335, B-V. Doshi

70819143336. Arundhati Roy



20819143337, Revali Kamat

70819143338, Dimal Patel

Question Number : 37 Question Id : 70819113143 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

‘0e, 2T ga Aerq’ 9@d 6RR SIQTIY LA QIQ 6R¢ILIRG ?
Options :

70819143335, -8 691EI

70819143336, Cdn ol o

70819143337, SeME1 @IFIG,

70819143338, =1 H6ER

Question Number : 38 Question Id : 70819113144 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
‘Tharokha’ is a type of window mostly found in :
Options :

70819143339, Sujarat

70819143340, 'Vest Bengal

70819143347, [amil Nadu



70819143342, Rajasthan

Question Number : 38 Question Id : 70819113144 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
“gealgl’ 9@ gela ¢l Blee QIfl ARINSEs cagidd -

Options :

70819143339, AWl

70819143340, 28796

70819143341, O A

70819143342, &€&

Question Number : 39 Question Id : 70819113145 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The monsoon wind enters in Indian sub-continent from which direction ?
Options :

70819143344. South-East side

70819143345, North side

70819143346. South-West side



Question Number : 39 Question Id : 70819113145 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

SIR01E RUFILIETH6R 6aw @alq 6AIgM QIg gead Q6a ?

Options :

70819143343, “&el-dsld dig

oFa-99 aKg
70819143344. e

70819143345, & 99

70819143346, 09 - UHd U4

Question Number : 40 Question Id : 70819113146 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following building represents the colonial Architectural pattern in India ?

Options:
70819143347, Bharat Bhavan in Bhopal

20819143348 LIC Buﬂding in Delhi

70819143349. Charminar in Hyderabad

T & ; 9 - i
20819143350. Victoria Memorial in Kolkata



Question Number : 40 Question Id : 70819113146 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
FORYO FrRIG 69 6RI0IF SINGER FERIFEIR 900 FRIF QIBI] @61 ?
Options :

0819143347, 9106 99K, CRITIR

70819143348, Jal.2lw.d 6I0I, @)l

70819143349, °/@F7Ia, FRFIQlT

70819143350. BEGCIEI 6FIECIG IR, 6RIN I

Question Number : 41 Question Id : 70819113147 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
What is the size of A2 Drawing sheet ?
Options :
20819143351 420 x 590 (mm x mm)

7081914335, 20594 (mm><mm)

70819143353, 297 X420 (mm> mm)

70819143354. 420 x 592 (mm X mm)

Question Number : 41 Question Id : 70819113147 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
A2 e G0 219K 6R60 ?
Options :
20819143351 420 x 590 (mm x mm)

70819143357, 20594 (mm>mm)

70819143353, 297 420 (mm x mm)

70819143354. 420 x 592 (mm X mm)

Question Number : 42 Question Id : 70819113148 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Victory Tower belongs to which of the following fort :
Options :

70819143355, Chittor fort

70819143356. Jaigarh fort

70819143357 Bhangarh fort

70819143358, ~xmer fort

Question Number : 42 Question Id : 70819113148 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
90 22 FORYe g 6aa 96 990 960 ?



Options :

70819143355, °oa® s

70819143356, ®o0¢ 4

70819143357, & =¢ @9

70819143358. Oloas, 49

Question Number : 43 Question Id : 70819113149 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which amongst the following Architect has designed the famous Temple “Akshardham” ?
Options :
70819143359, Samjay Puri

70819143360, ¥ ikram Lall

70819143361, Ashok Lall

70819143362, = “Ompura

Question Number : 43 Question Id : 70819113149 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

FaRee frig 6aa QIRIa (21R6eR) gl agauIf FRea a9 G216 @Rgs ?

Options :

70819143359, & we 6l



70819143360, 3¢ W&l

70819143367, 68l@ WG

d. eQinigal
70819143362.

Question Number : 44 Question Id : 70819113150 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

‘Volume Zero” Documentary is on which Architect ?
Options :

70819143363, Charles Correa
70819143364. Richard Mier

70819143365, Jasbir Sachdev

70819143366, Ramit Sabliki

Question Number : 44 Question Id : 70819113150 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

‘ARIF @6Ql’ gINIER 9RF90 6ew TG AdeR ?
Options :

70819143363, /W4 SaGlT

70819143364, ©191€ 1T,



70819143365. ARSI R

70819143366, 9&6 AR

Question Number : 45 Question Id : 70819113151 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
‘Agenda 21" is declaration related with :

Options :

Climate change
70819143367.

70819143368, Clobal warming

70819143360. Sustainable development

70819143370, Smart city

Question Number : 45 Question Id : 70819113151 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

“062€I - 21’ 9@ 6AFGIFIAI AL AN AR :
Options :

70819143367, "7l dal9ae

70819143368, 18714 @QId 9F (QEIaR)

70819143369, 2@ @8



70819143370, 4/© 990

Question Number : 46 Question Id : 70819113152 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Gold mines are situated in which state of India ?
Options:

70819143371. Karnataka

70819143372, Orissa

70819143373. Maharashtra

70819143374. Uttar Pradesh

Question Number : 46 Question Id : 70819113152 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
QRIgEgEa R0a 6Ru AleYen BREe ?

Options:

70819143371, 7L

70819143372, 8¢9l

R
70819143373, 8

70819143374, @&el 9694



Question Number : 47 Question Id : 70819113153 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In the Southern Hemisphere shadowless light is from which direction ?
Options :

70819143375, North

70819143376, Scuth

70819143377, Cast

70819143378, West

Question Number : 47 Question Id : 70819113153 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
QHd CRIRIEER SIATAR UEAIR 6QR 6lg 26T ?

Options :

70819143375, “@%

70819143376, 9494

70819143377, 4%

70819143378. i



Question Number : 48 Question Id : 70819113154 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The first Indian Architect who has won Pritzker Prize in 2018 is :
Options :

i _
70819143379, B+V: Doshi

70819143380, Laurie Baker

70819143381, ) Rewal

70819143382, ‘:chyut Kanvinde

Question Number : 48 Question Id : 70819113154 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

QR gaf URe1a QZRIQ deea gaia 2018 6a AlRgem ?
Options :

70819143379, -8 69181

70819143380, ©%I& 6960

70819143381, ©l& EaQlEl

ZIgYe QIEEeR
70819143382.  *

Question Number : 49 Question Id : 70819113155 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
Word “Bungalow” has originated from :
Options :

70819143383, Bengalurm
70819143384, Danaras

70819143385, bengal

70819143386, Bari

Question Number : 49 Question Id : 70819113155 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
‘oFeal’ 9490 6aw0Ig 98 62IaE ?

Options :

[la fala |
70819143383.

70819143384, =794

70819143385, ©T=®

70819143386, =@

Question Number : 50 Question Id : 70819113156 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The IIM - Ahmedabad is designed by which of the following Architect ?



Options :

70819143387. Laurie Baker

70819143388, Louis Kahn

70819143389, -utyen

70819143390, Le Corbusier

Question Number : 50 Question Id : 70819113156 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
219216971 -22NQI9ea /g, FINY0 6 LR PN BUR FRIALE ?
Options :
70819143387, =& 69@4

70819143388, L=8 @4

70819143389, 20 1%

70819143390, ™ SRR

Question Number : 51 Question Id : 70819113157 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



In the given figure, how many squares are present ?

Options :

()

70819143391, 14

70819143392, 13

(=1

70819143393, 12

—

70819143394, 18

Question Number : 51 Question Id : 70819113157 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

3¢ Q6 6RERIT 9delq A8 ?

Options :
4

(]

70819143391.

=l

70819143392, 13

5

(=1

70819143393.

8

—

70819143394.



Question Number : 52 Question Id : 70819113158 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A drawing is provided with all the folds to construct the following three Dimensional object.
Select the correct one.

Options :
I e
1 |
70819143395.
I| [
I
I
70819143396.
-
_I .-
| |-
70819143397.

70819143398.



Question Number : 52 Question Id : 70819113158 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
FORge 3-90g 92Q G690 209 Qier 929 PR @8 cdieda QUKL 8 | A0]ER <UD |

Options :

70819143395.

70819143396.

70819143397.



70819143398.

Question Number : 53 Question Id : 70819113159 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The problem figure shows the top view of an object. Identify the correct view looking in the
direction of arrow, amongst the answer figures.

—KE O
[

Options :

70819143399.

70819143400.



70819143401.

70819143402.

Question Number : 53 Question Id : 70819113159 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2960 1@ 9g0 208 IR Q8q 24INIER | o1a PULRASI §9 AR A0} T 98a 09
qag o212 (Q1g) |

— KX 0
[

Options :

70819143399.




70819143400.
70819143401.
70819143402.

Question Number : 54 Question Id : 70819113160 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The problem figure shows the top view of an object. Identify the correct elevation amongst
the answer figures looking in the direction of arrow.

—
I

Options:

70819143403.




70819143404.

70819143405.

70819143406.

Question Number : 54 Question Id : 70819113160 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

9998 990 008 S99 QaNEq adiad | aen 59 AR A4IRERI 618 @6 AgIHT A0R, RERIRE
G912 (Q1g) |

pr
I

Options:

70819143403.

70819143404.



70819143405.

70819143406.

Question Number : 55 Question Id : 70819113161 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The problem figure shows the top view of an object. Identify the correct elevation amongst
the answer figures looking in the direction of arrow.

L

T

Options :

70819143407.

70819143408.

708191434009.



70819143410.

Question Number : 55 Question Id : 70819113161 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

9950 920 207 SI6R QaNEq 241e8 | aeR 3 A6 GRSl 918 36 Al A0, YRERIRE
QIg |

o= | ]

T

Options :

70819143407.

70819143408.

708191434009.



70819143410.

Question Number : 56 Question Id : 70819113162 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

One of the following answer figures is hidden in problem figure in same size and direction.
Select correct one.

Options :

70819143411. 5
70819143412. D
70819143413. ;

70819143414.



Question Number : 56 Question Id : 70819113162 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Q¢ 9499 fa6a 69T AAIR ZIRIQ 6 99 944 Qe 99 A6 @8 | A0REY QL |

Options :
70819143411. >
70819143412. D
70819143413. v
70819143414. ﬁ

Question Number : 57 Question Id : 70819113163 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

One of the following answer figures is hidden in problem figure in the same size and direction.
Select correct one.

Options :



70819143415.

70819143417.

W
70819143416. Q
0
N

70819143418.

Question Number : 57 Question Id : 70819113163 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

@7 9498 fu6a 6aIE QAR ZIRIa 8 @9 94 QER 99 A0 oRE | A0REq I |

Options :

70819143415.

70819143417.

L
70819143416. Q
0
N

70819143418.



Question Number : 58 Question Id : 70819113164 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

One of the [ ollowing answer figures is hidden in the prohlom t’igure in same size and direction.
Select the correct one.

Options:

70819143419.

70819143421.

N
s, C

A

>

70819143422.

Question Number : 58 Question Id : 70819113164 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Q¢ 9499 frlen 66T QRIR ZIRIR 6 99 984 Qe 09 A0 AF8 | 40RTq Qg |

Options :



70819143419.

70819143421.

N
-

A

>

70819143422.

Question Number : 59 Question Id : 70819113165 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Oneof the [ ollowing answer i’igures is hidden in the pmhlc-m figurc- in same size and direction.
Select the correct one.

Options :
70819143423. D
70819143424. D
70819143425. O
70819143426. ﬂ



Question Number : 59 Question Id : 70819113165 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Q¢ g95Q F6a 69T QAR 2IRIQ B @3¢ G99 Qe 98 A% AET | A0REY QUL |

Options :
70819143423. D
70819143424. D
70819143425. O
70819143426. ﬂ

Question Number : 60 Question Id : 70819113166 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the answer figures is correct mirror image of problem figure with respect to
X-X?

[

1]

Options:



70819143427.

70819143428.

70819143429.

arf e )

70819143430.

Question Number : 60 Question Id : 70819113166 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



X-X 2Q9I9 690 90 99¢ g9oea a0 @dda goda 2ee ?

X
L
[]
X
Options :
]
70819143427.
[l
]
70819143428.
L
1
70819143429.

70819143430.



Question Number : 61 Question Id : 70819113167 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the answer figures is the correct mirror image of the problem figure with
respect to X-X ?

N\
A
N

70819143433.



P,

)
V

oN

70819143434.

Question Number : 61 Question Id : 70819113167 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

X-X 2egIg 690 988 996 g95ee 40 edd godna 2ee ?

X

s

Options :

70819143431.

70819143432.



(e
3

A
\
70819143434,

Question Number : 62 Question Id : 70819113168 Question Type : MCQ Option Shuffling : Yes

¥,

70819143433.

N2

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the answer figures is the correct mirror image of the problem figure with
respect to X-X ?

7 X
Y/INN

/
N X

Options :

70819143435.



s s

P s g

70819143436.

/
PR

>

70819143437.

N
V%

N4
/AN

70819143438.

Question Number : 62 Question Id : 70819113168 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



X-X 2909 698 906 096 94oea dA0e @da goaa 2ee ?

/// X
N
/
N X
Options:
N
NV
N\
70819143435. f/
N
NV
N
70819143436. f/
N
P
N/
70819143437.

S/

N4
/AN

70819143438.



Question Number : 63 Question Id : 70819113169 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the answer figures complete the sequence of the pmh[em t’igure ? Select the

correct one.
?
A

Options :

70819143439.

70819143440.

ar
S

70819143441.

70819143442, |

Question Number : 63 Question Id : 70819113169 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



609 Q80 097 QRN AW 99Fe €09 a°gd @qUF ?

Al

Options :

74
708191434309.
70819143440.
70819143441. |
70819143442.

Question Number : 64 Question Id : 70819113170 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

/

Options :

70819143443.

70819143444.

70819143445,

70819143446.

Question Number : 64 Question Id : 70819113170 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



3-G010 597 61T 998 98N] 24Ia8 | aae 59 fUER *dINel 918 G gl A0]
QeNCq g |

4

Options :

70819143443.

70819143444.

70819143445,

70819143446.

Question Number : 65 Question Id : 70819113171 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

3

%

Options :

70819143447.

70819143448.

70819143449.

70819143450.



Question Number : 65 Question Id : 70819113171 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

3-Q019 598 6615 990 QaIEq @dIed | AR 09 AU @¥IegQ 61a @d Al A0
QENEQ QIg |

?

/i

Options :

70819143447.

70819143448.

70819143449.

70819143450.



Question Number : 66 Question Id : 70819113172 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

Options :

70819143451.

[ ]

70819143452,



70819143453.

70819143454.

Question Number : 66 Question Id : 70819113172 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

3-3019 966 6015 920 QY 626N | B8R §Q FIUER NI O1R Bal AEIe! A0 Ve I8 |

/

Options :

70819143451.



70819143452,

70819143453.

70819143454,

Question Number : 67 Question Id : 70819113173 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

/!

Options :

70819143455.

70819143456.



70819143457.

70819143458.

Question Number : 67 Question Id : 70819113173 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
3-9010 590 6815 920 Q9 69U | 98N ] AR PFINAR 18 B8 2GAI DR, QENE QIp |

/I

Options :

70819143455.

70819143456.

70819143457.



70819143458.

Question Number : 68 Question Id : 70819113174 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

/!

Options :

70819143459.

70819143460.

70819143461.



70819143462.

Question Number : 68 Question Id : 70819113174 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

3-2010 590 6615 99 Q8N 6AHN | BAA 59 AR IR F1Q B 2gaI Q0K Q840 QI8 |

/

Options :

70819143459.

70819143460.

70819143461.

70819143462.



Question Number : 69 Question Id : 70819113175 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

7

Options:

70819143463.

70819143464.

70819143465.



70819143466.

Question Number : 69 Question Id : 70819113175 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
3-Q010 590 661G Q2R Q6N 6N | KRR B AR 4R 18 B 2gaIet A0R QaWE QI |

i

Options :

70819143463.

70819143464.

70819143465.



70819143466.

Question Number : 70 Question Id : 70819113176 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

/1

Options :

70819143467. '

70819143468.

70819143469.

70819143470.



Question Number : 70 Question Id : 70819113176 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

3-3016 5% 601G 990 Q6 62U | AR BQ FER P6IRAGl 918 39 AgEIE! A0, aNE QI8 |

/ﬂ

Options :

70819143467, '

70819143468.

70819143469.

70819143470.



Question Number : 71 Question Id : 70819113177 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

/l

Options:

70819143471. —I

70819143472. l

70819143473.

70819143474.



Question Number : 71 Question Id : 70819113177 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

3-3010 995 6015 920 Q8Y 69U | AR B9 FER IR 18 B gAI QDR Q8NG QI8 |

/1

Options:

70819143471. —I

70819143472. |

70819143473.

70819143474.

Question Number : 72 Question Id : 70819113178 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

y

4

Options:

70819143475.
70819143476.
70819143477.

70819143478.



Question Number : 72 Question Id : 70819113178 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
3-3010 67 6RITN A9Q 994 62U | B8R B AR PHIRAGI 915 @8 BgaIR! Q0] QG QI8 |

y

/

Options:

70819143475.
70819143476.
70819143477.

70819143478.



Question Number : 73 Question Id : 70819113179 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

Options :

|
70819143479. L

L
70819143480. | |
70819143481. | l

70819143482. |



Question Number : 73 Question Id : 70819113179 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
3-3018 590 66ITN 920 L8N 6RUN | BRR B AR A8IRARI ©18 B AT A0 QENG QI8 |

Options :

|
70819143479. l l

|
70819143480. | |
70819143481. | I

||
70819143482. |

Question Number : 74 Question Id : 70819113180 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

/

Options :

70819143483.

70819143484.

70819143485.

70819143486.

Question Number : 74 Question Id : 70819113180 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



3-3010 567 60IB 999 Q8N 69UN | 9RA 3G FU6R HIRAR 718 B9 Al A0R, QNG QIg |

I

Options :

70819143483.

70819143484.

70819143485.

70819143486.

Question Number : 75 Question Id : 70819113181 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct top view, amongst the answer
figures.

Options :

70819143487.

70819143488.

708191434809.

70819143490.

Question Number : 75 Question Id : 70819113181 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



3-0010 TgF 69T 920 Q84 696N | BRe B9 Mg A0R] d1I9ady T80 g |

Options :

70819143487.

70819143488.

70819143489.

70819143490.

Question Number : 76 Question Id : 70819113182 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct top view, amongst the answer
figures.

Options :

70819143491.

70819143492.

70819143493.

70819143494,

Question Number : 76 Question Id : 70819113182 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

3-Q01a 590 60IF9 990 Q94 62 | 99R 59 kg A0Q S1dady §9F QI8 |

Options :

70819143491.



70819143492,

70819143493.

70819143494,

Question Number : 77 Question Id : 70819113183 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct top view, amongst the
answer figures.

Options :

70819143495.

70819143496.



=

70819143497.

=

70819143498.

Question Number : 77 Question Id : 70819113183 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

3-9e19 996 6915 920 Qa 6N | QAR 58 Ag A0R gIdes 590 QIS |

Options :

70819143495.

70819143496.




=

70819143497.

=

70819143498.

Question Number : 78 Question Id : 70819113184 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Identifj.,-' the buﬂding compositions of having less visual tension amongst the fo[lnwing figurcs.

(A) (B)
(€ (D)
Options :

70819143499, () and (B)

(B) and (C)
70819143500.

70819143501, (©) and (D)

70819143502, (P) and (4)

Question Number : 78 Question Id : 70819113184 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

QONYO 980 0g 9ER Fg @F QAR QI g9l ATRR Aeq T |

(A) (B)
(C) (D)
Options :

70819143499, () and (B)

(B) and (C)
70819143500.

70819143501, (©) and (D)

70819143502, (D) and (A)

Question Number : 79 Question Id : 70819113185 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The problem figure shows the top view of an object. Identify the correct elevation amongst
the answer figuros Iooking in the direction of arrow.

v v— U
¥ il
Options :

Il
70819143503. |-|-



70819143504.

70819143505.

70819143506.

Question Number : 79 Question Id : 70819113185 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

095a8 2ga a1deauq 6iad | wan 59 kR TdIegel o1 @6 ARAIA A0R YRRLRE]
59¢ @Q |

Options :

Il
70819143503. |-|-

70819143504.

70819143505.

70819143506.



Question Number : 80 Question Id : 70819113186 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The prohlem f igure shows the top view of an ohject. ldontif}-' the correct elevation amongst
the answer figures looking in the direction of arrow.

[
\

Options :

70819143507.

70819143508.

VAR

708191435009.



70819143510.

Question Number : 80 Question Id : 70819113186 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

94500 oga a1dQau @died | @eR 59 AR @diedql o @6 2QEId A0R IREEARE

/N

R

Options :

70819143507.

70819143508.



708191435009.

AN
/4

70819143510.

Planning
SectionId: 708191456
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 25
Number of Questions to be attempted : 25
Section Marks : 100
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 708191736
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 70819113187 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of these industries did not exist in London before the first world war ?



Options :

70819143511, Automobile

70819143512, Clothing and Textile

70819143513, Lrinting

70819143514, Iron and Steel

Question Number : 81 Question Id : 70819113187 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
gar GgYe g99 nanea 1@ dgqee kg 6R66 08 Faml ?

Options :

ox)
=
a2
=]
)
=]
)
o
=
=1
g2
3
ey
=3
P
)

70819143511,

70819143512, 29l 8 86l @4

70819143513, &dEle

70819143514, ¥ 1" 840

Question Number : 82 Question Id : 70819113188 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A carbon footprint is the amount of _released into the atmosphere.

Options :

70819143515, [Vitrogen



20819143516. Greenhouse gas

70819143517, ©zone

70819143518, Suspended Particulate Matter (SPM)

Question Number : 82 Question Id : 70819113188 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
QYAAR] GO0 2R Q9814 9@ AFa (|I98) @ 0958 26T

Options :

70819143515, 498w

70819143516, “a@el® <19

BRE,

70819143517.

S 99 @dial (99.9.499)
70819143518. =

Question Number : 83 Question Id : 70819113189 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A. KodaiKanal
Kullu
Mount Abu

Panch gani

Mg N

Pahalgam
Arrango the above hill stations in the correct sequence from south to north in India.
Choose the correct answer from the options given below :

Options :



70819143519, E7D—=B—- A= C

70819143520, L7 B—=C—=D—A

70819143521, € A —-B—-D—E

70819143522, A 7 D= C—B—E

Question Number : 83 Question Id : 70819113189 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A. GRIFINERNIR

B. Q8
C. ¢Ieg a9
D. g9
E. dieaasld

d6 L9 LO6R AN

RAC6RI8 USERYER] O UFLFER NG )

Geen QuYElel 9eggees 09 Qe

O D
[ N =3
E V=D
£ &4
9 B

Options :
70819143519, E7*D—=B—- A= C

70819143520, L7 B—=C—=D—A

70819143521, ¢ A —=B—=D—>E

70819143522, A ? D> C—B—E

Question Number : 84 Question Id : 70819113190 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Planning Commission in India has been replaced by :
Options :
70819143523, Mo HUA

70819143524, NITT Aayog

70819143525, NIUA

70819143526, FTI

Question Number : 84 Question Id : 70819113190 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o
L]
N,
[.=}}]

QUOGR CLINR ARG eeRl die
Options :
70819143523, 9192 (1961.6.99.6.9)

70819143524, ¢ HI6AIE

70819143525, “@2 (M.219.9.)

70819143526, 9992 (80a.218)

Question Number : 85 Question Id : 70819113191 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

When was the special Economic Zone's Act enacted in India ?

Options :



70819143527, 2005

70819143528, 2007

70819143529, 2009

70819143530, 2011

Question Number : 85 Question Id : 70819113191 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

6RES YOR ZAFID ZEG UG FUIRRRE 60| 7
Options :

70819143527, 2005

70819143528, 2007

70819143529, 2009

70819143530, 2011

Question Number : 86 Question Id : 70819113192 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

What is the full form of NHAI ? Choose the correct answer.

Options :

70819143531, Mational Horticulture Association of India.

70819143532, National Heritage Authority of India.



70819143533, National Hydroelectric Power Authority of India.

70819143534, National Highway Authority of India.

Question Number : 86 Question Id : 70819113192 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
98.99.4.219.6 g4 qa @@ ? O) 088 9de @9
Options :

70819143531, 2609 V161G QQUIS I AW

70819143532, VOGR VIS Io2 GIYAAE

70819143533 lRee @IV o @E:_'IE'[ [ g2l @6l

70819143534, NOER FIG1E QIFDA ARIQAS

Question Number : 87 Question Id : 70819113193 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

How many Sustainable Development Goals were adopted by the United Nations ?
Options :

70819143535, 15

70819143536, 16

70819143537, 17



70819143538, 18

Question Number : 87 Question Id : 70819113193 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(00 @I0AT QIal 6RETIT YAl ARAAY R IRId AYY ge8 eaudidm ?
Options :

70819143535, 15

70819143536, 10

70819143537, 17

70819143538, 18

Question Number : 88 Question Id : 70819113194 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In which year, the first industrial policy by Government of India was announced ?
Options :

70819143539, 1947

70819143540, 1948

70819143541, 1950

70819143542, 1949



Question Number : 88 Question Id : 70819113194 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

6e@ 9F 906 RN AR AFNE 6aISd FQUAIRAR ?
Options :

70819143539, 1947

70819143540, 1948

70819143541, 1950

70819143542, 1949

Question Number : 89 Question Id : 70819113195 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Planning of Barcelona city in Spain is known for its :
Options :

70819143543, Superblocks

70819143544 radial pattern

70819143545, high rise development

70819143546 waterbased Lranspnrt

Question Number : 89 Question Id : 70819113195 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



6996 QIHcRIR 9909 FHId 6UIeRl 9P ikl 9606
Options:

70819143543, @4 W

70819143544.

@ U694 aRg
70819143545, 9% HOET GRG

70819143546, @708 629

Question Number : 90 Question Id : 70819113196 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of these is not an industrial city ?
Options :
70819143547, Purgapur

T e ATy
70819143548, Vishakhapatnam

70819143549, Bhubaneshwar

70819143550, Bhilai

Question Number : 90 Question Id : 70819113196 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

IAIRE C12IQ 6REC g QTQ Q6% ?

Options :



Qglge
70819143547, 4049

i

'l DI B'el

iy

)

70819143548.

§96Rga

70819143549.

70819143550, ° ¥

Question Number : 91 Question Id : 70819113197 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of these schemes / programmes by Government of India is linked to heritage cities ?
Options:
70819143551, AMRUT

70819143552. Make in India

70819143553, HRIDAY

70819143554, © DAY

Question Number : 91 Question Id : 70819113197 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Q190 RRIAFe 1@ cAIeq | @IdIn g6Q UG aRt J0e Qe gFe 9@ 9§60 ?

Options:

70819143551, ~A1¢ (AMRUT)



70819143552, SFle B BEL (Make in India)

@ o )
70819143553, ° @ (HRIDAY)

Q9% (UDAY)
70819143554,

Question Number : 92 Question Id : 70819113198 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the following south Indian states has the highest ground water utilization
(in percent) of its total groundwater potential ?

Options :
70819143555, Tamil Nadu

70819143556. Karnataka

70819143557. Andhra Pradesh

70819143558, Kerala

Question Number : 92 Question Id : 70819113198 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

76719 60w 2F6 IGSIA AIFY 1210 AYAID §OR 99 2990 CTR YO 99 AacIEe!(969e!)
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Options :

~Ey o GG
70819143555, ° e

@dioq
70819143556.



70819143557, ~/4H6wE

amTale
70819143558, °«o™

Question Number : 93 Question Id : 70819113199 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Survey of India was established in :
Options :

70819143559, 1886

70819143560, 1876

70819143561, 1866

70819143562, 1896

Question Number : 93 Question Id : 70819113199 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

GIOgIe deeE8 @)l qadelee 9186 i@
Options :

70819143559, 1886

70819143560, 1876

70819143561, 1866



70819143562, 1896

Question Number : 94 Question Id : 70819113200 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

As per 73"d amendment act (73'4 CA A) 1992 first time one third (1/3) reservation for women
was provided in which of the following ?

Options :

70819143563, Lok Sabha

70819143564, -tate Legislative Assembly

70819143565, Cabinets

70819143566, [ anchayati Raj bodies

Question Number : 94 Question Id : 70819113200 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

73 60 QAAIR QARG 2108 (7374 CAA) 1992 29260 A9ga6n FERIE QIR IR 9e1°d (1/3)
A9 LAFd FORYE 6RR0I6R RAIDIRARI ?

Options :

70819143563, W@

QI Grle Qs
70819143564, o1 Sl db

70819143565, o = 69 (pa1caa)

70819143566.



Question Number : 95 Question Id : 70819113201 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Map Reading.

< 210

- 205
= 200

Street O

.. 200

- 205

% 210
r'ﬂ' ’_,-" 2]5

S Water body Market Contour N
m Vegetation M Police Station Temple
E Railway 5tn [|:|:|:|:|:|:|:|] Hospital i School

With reference to the diagram, choose the correct statement.

Options :
Slope of land on which school is located is flatter than the slope of land on which

20819143567, nospital is located.

Slope of land on which police station is located is steeper than the slope of land on
70819143568, Which school is located.

Slope of land on which school is located is steeper than the slope of land on which
70819143569, ‘emple is located.



Slope of land on which school is located is the same as the slope of land on which
70819143570, ‘emple is located.

Question Number : 95 Question Id : 70819113201 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Map Reading

f-="

Street O

200
D 5 1,
% 210
2 e 715
-l:.l ‘, i’

R Water body Market Contour N
m Vegetation w Police Station Temple T
E Railway Stn I]:I:I:I:I:I:I:I] Hospital e School

AUERID 60 6o¢ OR @& QI8 :

Options:

=3

SO CICTO SEH0 @O0 QOO OGO QCGoo Q) - ]
70819143567 PWYRLde ZEe mhﬂu. @ 1G] PRI QR Ol dala 4Hend



Qe 290 9 ARSI FeLa [OT 1§, 1
20819143568, 2178 29U0 glia QARG FQUIRAR BARYGI Ol G1¢

20819143569. AQIeEe 2PE0 g KARgel ALea @ARYE 0lg e18

GINEE f19E0 6 RAGA0 feae QA | Cia o
20819143570. F@EYREde AYHY e RNl LR QYR JdY df

Question Number : 96 Question Id : 70819113202 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Map Reading,

T
Street B

Street C

200

IETRLT,

210
Pyt

| Water body Market Contour N
B‘,’% Vegetation w Police Station | <] |Temple

E Railway Stn I]IIIHII] Hospital

[n the given diagram, for a person to travel from railway station to temple, one will have to
move in direction.

Options :

70819143571, North



70819143572, North - East

70819143573, South - West

70819143574, East

Question Number : 96 Question Id : 70819113202 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Map Reading

" Sireet E
Street B

ae®
L-

Street C

. 200

- 205

120
P

3 Water body 111117/ Market - Contour N
‘u’egetatmn w Police Station Temple
E Railway Stn I]EII:I:I:” Hospital A School

QLRI T96R P64 CAIRY 699 68AR 01f) fLe adie J9l Qb Qe6a daig
689
Options :

)
70819143571, &

Ny — Y
70819143572, “#e-4E

QE&-afia
70819143573.

70819143574, 2%



Question Number : 97 Question Id : 70819113203 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Map Reading.

2] Wa

5% Vegetation % Police Station
E Railway Stn I]:I:I:I:I:I:I:I] Hospital

In the given

Options :

70819143575.

70819143576

70819143577.

70819143578.

Street C

. 200

ter bady Market

Contour N

Temple

4] School

W
.

diagram, water body is located at a level :

5m highr_-r than pnlicr_- station.

5 m higher than school.

same level as police station.

same level as school.



Question Number : 97 Question Id : 70819113203 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Map Reading

Street: C

Water b”d}' Market === Contour N
Vegetation M Police Station Temple
E Railway Stn [I:III:I:III] Hospital T

QR TEER FRID das PFe -

Options :

70819143575, 2IF OB 5 F1EQ @gea

70819143576, 2@Uea 01§ 5 §. ag6a

70819143577, dIF18 08 426 QA9



AL dee a9gg g
70819143578, ° ¢ lmdel daw €6 9d

Question Number : 98 Question Id : 70819113204 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The following pie-charts show the distribution of students enrolled in higher secondary and
in college education, with respect to the household income of their families.

Higher Secundm'}' Education Cﬂllt‘.gﬂ Education

The ratio between the number of students from LIG household category studying at higher
secondary to those in college is :

Options:
70819143579, 41
70819143580, 12

70819143581, 0 :1

70819143582, 1:4

Question Number : 98 Question Id : 70819113204 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

70819143579, 4:1

70819143580, 1 :°

70819143581, 0 :1

70819143582, 1:4

Question Number : 99 Question Id : 70819113205 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The surface area of earth is 510 million km?2. The land area is thirty percent of total surface.
Urban land is three percent of total land surface. World population is 7.8 billion and fifty five
percent is urban population. Find the closest correct answer.

Options :
20819143583, Lhe density of population in urban area is 1000 persons/sq.km.

70819143584. The density of population in urban area is 849 persons/sq.km.

70819143585, The density of population in urban area is 4290 persons/sq.km.



70819143586, The density of population in urban area is 7800 persons/sq.km.

Question Number : 99 Question Id : 70819113205 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

0049 [le ceag
JRGa Z6e 9e°

dae1 996 689ae 510 ARae Q6 ReRIfica 266 | A9 QNN J6R9
dRQIg | 99912 99RI0 490l G014 fI8 Q99159 | 9A9Ie @ad°Hl 7.8
JEQIER FAUHY FRRE 4095 TBIQR SIf | 960 A0R RRAT cRd

Options :
FRERE FRAHIS IS 1000 &6 96 &@.8 98

70819143583,

70819143584. dERIERE fad e dIfTl 849 @4 Q@6 K.¢1 9d¢

70819143585, ALQIERQ Fea e digel 4290 @d 99

QeI ERE AU eiio AIgel 7800 ¥ Q6
70819143586.

Question Number : 100 Question Id : 70819113206 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Population of city A, B and C from 1981-2011.

C I
2011 B |
A
C
2001 B
A
C |
1991 B |
A
C |
1981 B |
l I l I I
0 1 1 1 1 1

5,000 10,000 15,000 20,000 25,000
Choose the correct statement :

Options :
City A shows the increase in population from 1981 to 2011 and city C does not show
70819143587. the increase likewise.

= ity B shows a continuous decline in populafion from 1981-2011 whereas city A shows

70819143588 an Increase.

Popu[atinn in city A is increasing in each decade from 1981 to 2001 whereas city B

70819143589 shows a decline from 1981 to 1991 and then it increases from 1991 to 2001.

C ity C shows continuous decline in populatinn invarious decades whereas city B shows

70819143590. increase.

Question Number : 100 Question Id : 70819113206 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



1981 q1d@16) 2011 (Gl ade A, B 99° C 920 9haa 96a°ay

2011

2001

B

C
1991 B |
A

1981 B |

l l l l l
I I I I I
5,000 10,000 15,000 20,000 25,000

0R Q&c Qg :

Options :

e

'j ) o bles] P : 1o L ) 1
70819143587, A Q9Q 1981 q 2011 Q&6 @FQ°EY qgeiq 9e* C 98a Q&0 P CIHN QF

70819143588. B 996 @0Q°¢YQ GRTIER 219 696ig 1981 § 2011 ¢lleq EUIECEIER A QLQl GLEI; N

A Q999 F2°¢ 1981 OIg 2001 96 @@1%6a @'E-Tu‘ @ EHELEIER B We9R @GQ°eyl @19
70819143589, 62¢1d 1981 @ 1991 4 99° GIU6R Y& 962 1991 @ 2001 €66

C 4o @ad°dle g @19 69 CUeeeaeq B QEO CQEre

—

70819143590.

Question Number : 101 Question Id : 70819113207 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



[nasurvey, the speeds of 100 vehicles were observed. The following table gives the distribution
of vehicle speed and the corresponding number of vehicles.

Vehicle Speed (kmhr~) No. of Vehicles
20 6
25 20
28 24
29 28
33 15
38 4
40 2
45 1

The median speed of the vehicles is :
Options :

3 1
70819143591, 26 kmhr

70819143592, 21.5 kmhr ™

70819143593, 30 kmhr™!

1
70819143594. 28.5 kmhr

Question Number : 101 Question Id : 70819113207 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



GERYS CE9RER 1R OdYeandea 100 § QIR 66 AdY ISR

QAIPa 696 (kmhr™ ) dima g°elvl
20 6
25 20
28 24
29 28
33 15
38 4
40 2
45 1

RUERIS G2 2RI AT AT 696 6ORE :
Options:

70819143591, 26 @¢1 €81 g¥

5 BE =
70819143592, 212 ¢ @91 99

30 Q7 949l 9F
70819143593.

70819143594, 28-3 @¢l €&l 9u

Question Number : 102 Question Id : 70819113208 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Hundreds of Shanty towns line the river banks, train tracks, and garbage dumps in the
Filipino capital. Around a quarter of its 12 million are considered ‘informal settlers’. Manila
is starkly representative of a global problem. According to the United Nations, about a quarter
of the World's urban population lives in slums.

Slum tourism takes outsiders through their most impoverished marginalized districts. Slum
tourism sparks considerable debate around an uncomfortable moral dilemma. Many consider
the practice little more than slack-jawed privileged people gawking at those less fortunate.

Others argue they raise awareness and provide numerous examples of giving back to the
local communities.

Which of the [ oﬂf}wmg best jusfif}-' ‘Slum Tourism’ in the above paragraph ?

Options:



70819143595, As a charity by privileged people.

70819143596, Asa way to reduce crime.

As a wav to sensitize travellers about poor living conditions in the society.
70819143597, ) p & )

70819143598, As an adventure activity.

Question Number : 102 Question Id : 70819113208 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Hundreds of Shanty towns line the river banks, train tracks, and garbage dumps in the
Filipino capital. Around a quarter of its 12 million are considered ‘informal settlers’. Manila
is starkly representative of a global problem. According to the United Nations, about a quarter
of the World's urban population lives in slums.

Slum tourism takes outsiders through their most impoverished marginalized districts. Slum
tourism sparks considerable debate around an uncomfortable moral dilemma. Many consider
the practice little more than slack-jawed privileged people gawking at those less fortunate.
Others argue they raise awareness and provide numerous examples of giving back to the
local communities.

Which of the following best justify ‘Slum Tourism’ in the above paragraph ?

Options :
70819143595, As a charity by privileged people.

70819143596. As a way to reduce crime.

As a wav to sensitize travellers about poor living conditions in the society.
70819143597, ) p & )

70819143598, As an adventure activity.

Question Number : 103 Question Id : 70819113209 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Hundreds of Shanty towns line the river banks, train tracks, and garbage dumps in the
Filipino capital. Around a quarter of its 12 million are considered ‘informal settlers”. Manila
is starkly representative of a global problem. According to the United Nations, about a quarter
of the World's urban population lives in slums.

Slum tourism takes outsiders through their most impoverished marginalized districts. Slum
tourism sparks considerable debate around an uncomfortable moral dilemma. Many consider
the practice little more than slack-jawed privileged people gawking at those less fortunate.
Others argue they raise awareness and provide numerous examples of giving back to the
local communities.

The nearest meaning of ‘Gawking’ in this paragraph would be :
Options :

70819143599, Learning

70819143600, ~'ATiNg

70819143601, [eeping

70819143602, Gloating

Question Number : 103 Question Id : 70819113209 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Hundreds of Shanty towns line the river banks, train tracks, and garbage dumps in the
Filipino capital. Around a quarter of its 12 million are considered ‘informal settlers”. Manila
is starkly representative of a global problem. According to the United Nations, about a quarter
of the World's urban population lives in slums.

Slum tourism takes outsiders through their most impoverished marginalized districts. Slum
tourism sparks considerable debate around an uncomfortable moral dilemma. Many consider
the practice little more than slack-jawed privileged people gawking at those less fortunate.
Others argue they raise awareness and provide numerous examples of giving back to the
local communities.

The nearest meaning of ‘Gawking’” in this paragraph would be :
Options :

70819143599, Learning

70819143600, ~tATiNg



70819143601, Feeping

70819143602, Gloating

Question Number : 104 Question Id : 70819113210 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : one is labelled as Assertion A and the other is labelled as
Reason R.

Assertion A: Over the last two decades collective attention span is decreaqi_ng.

Reason R : Quick availability and rapid access to large amount of information leads to loss of
interest in one topic very quickly.

[n the light of the above statements, choose the correct answer from the options given below :

Options :
70819143603, Both A and R are true and R is the correct explanation of A

70819143604, Both A and R are true but R is NOT the correct expla_natinn of A

70819143605, ‘A 1s true but R is false

A is false but R is true
70819143606.

Question Number : 104 Question Id : 70819113210 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

wlied qa° O g amlmy 0y Syl
70819143603. el A 99° R 06 99° R @Rl A @ <YISHY

70819143604. Geld A 99° R 0Q @g K, AQ OG QYiell 6w

70819143605, ** %

J

0
gl
=

)
a3
D
]
)

70819143606, * O €6& @9 R Ol €6s

Question Number : 105 Question Id : 70819113211 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements : one is labelled as Assertion A and the other is labelled as
Reason R :

Assertion A : In past two decades, rate of divorce has increased in India.
Reason R : Increasing number of married couples do not want to have children,

In the light of the above statements, choose the correct answer from the options given below :
Options :

70819143607. Both A and R are true and R is the correct explanation of A

70819143608 Both A and R are true but R is NOT the correct explanatifm of A

70819143609, A istrue but R is false

70819143610, '\ 18 false but Ris true

Question Number : 105 Question Id : 70819113211 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options:
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Drawing
Section Id : 708191457
Section Number : 5
Section type : Offline
Mandatory or Optional : Mandatory
Number of Questions : 2
Number of Questions to be attempted : 2
Section Marks : 100
Mark As Answered Required?: Yes
Sub-Section Number : 1
Sub-Section Id : 708191737
Question Shuffling Allowed : No

Question Number : 106 Question Id : 70819113212 Question Type : SUBJECTIVE

Correct Marks : 50



Draw a proportionate skelch of given reference image by using any black and white rendering
teduﬁques of your own choice.

OR

Decode image and prepare balanced composition in a frame of your choice by using any
black and white rendering techniques.

Question Number : 106 Question Id : 70819113212 Question Type : SUBJECTIVE

Correct Marks : 50
7% 090 2RI 6A6TIAT ARl ¥° MRl ARQIR 4R (66RAR) LIk @R g9R goeda
2IRaIeR 69 Ue6 @a |

2]
606Rad @Rl ¥e° UGl RAQIR 6AER (60RFR) el @R 95edR 9Eed 19° 2RQR @
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Question Number : 107 Question Id : 70819113213 Question Type : SUBJECTIVE
Correct Marks : 50

Draw a scene of a Kite festival by using colors.
OR
Draw a Harmonic three dimensional composition with the following two types of objects.
(i) CUBOID A :SIZE 2 cmX 2 ¢cm X2 cm, 5 Nos.
(i) CUBOIDB:SIZE5 cmx 2 cmX 2 cm, 4 Nos.
Use “Cool Colorscheme” for composition.

Question Number : 107 Question Id : 70819113213 Question Type : SUBJECTIVE
Correct Marks : 50

QF F9IQ 9F 9@ 9F 99Q Q9 LR AR |
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(i) g A : UK 2cmx2 cm X 2 cm, 5 Nos.
(i) 99 B:qUXRXS5cmx2cmx2cm, 4 Nos.
(9n @6 4 MNP 99)



